Van Seat Frame and Hardware
After 1/3/08 (CGE) - TDX SP/SP-GT/SR

Van Seat and Seat
Positioning Strap shown
for reference only

For 22" W Seat Frame

For 16”,18”,20"W
Seat Frames

For 167, 18",
207,22 YV Seat Frames

.5 >*" Van Seat Frame
L__@ ,,,,, - Mounting Hardware

Van Seat
Mounting Hardware

..‘:\\_\‘ ¢ ] Q \
w) W/ \/“é"i (

22NF Battery Box Assembly (Narro

Elevate Actuator shown for reference only N
ke

(9.

\$

Mounting Plate Hardware



Van Seat Frame and Hardware
After 1/3/08 (CGE) - TDX SP/SP-GT/SR

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1147626 Kit, Captain Seat Mounting Hardware 1 1
2 Screw, Hex Head Cap w/ Patch (1/4-20 x 2-1/4") 1 2
3 Washer, Steel (1/4 x 5/8 x 3/32") 1 4
4 NLA - Screw, Hex Head Cap w/ Patch (1/4-20 x 1") 1 2
5 Washer (1/4 x 23/32 x 1/16") 1 2
6 NLA - Spacer (1/4 x 5/8 x 3/8") 1 2
7 B 1147628 NLA - Kit, Van Seat Frame Mounting (For Formula 1 1
CG Elevate)
8 Washer, Flat (21/64 x 53/64 x 7/64") 1 4
9 NLA - Screw, Socket Head w/ Patch (5/16-18 x 1 4
1-1/2")
10 1147088 Frame, Van Seat, Black (16" W) 1 1
10 1147073 Frame, Van Seat, Black (18" W) 1 1
10 1147086 Frame, Van Seat, Black (20" W) 1 1
10 1147082 Frame, Van Seat, Black (22" W) 1 1
11 1142304 Screw, Hex Head SEMS w/ Patch (5/16-18 x 3/4") 1 8
12 1121721-NLA | NLA - Nut, Weld (5/16-18 x 1-1/8" Spacing) 1 4
13 1121710 NLA - Plate, Elevate Seat Mounting - Right 1 1
13 1121711-NLA | NLA - Plate, Elevate Seat Mounting - Left 1 1
14 1070398-NLA | NLA - Screw, Hex Head (5/16-18 x 1-1/2") 1 4
15 1147098-NLA | NLA - Bracket, Seat Mounting, Elevate, Black 1 1
16 1154065-NLA | NLA - Block, Actuator Motor Spacer 1 1
17 1028769 Locknut (5/16-18) 1 4

NOTE: A - Includes items 2-6.
B - Includes items 8 and 9.




